FABRICATION MATERIALS

PT |SPEC  |COMPONENT DESCRIPTION N.S. |aQTY
NO
PIPE
1|DOWA |PIPE STD WT SMLS STL A106-B 1 15.8"
FITTINGS
2|DOWA  [REDUCER CONC STD WT STL A234 WPB|1.1/2| 1
BwW % 1
3[DowA |ELL 90 DEG LR STD WT STL A234 1 4
WPB BW
FLANGES
4|DOWA  |FLG WN 3004 RF STL STD BORE A105 |1 2
ERECTION MATERTALS
PT [SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
CONT. ON 5|SUPP  [SPS-2 RESTING SUPPORT 1 1
6" -DOWA-20025
E 11'9"
S 2°4.15/16" EL +45'6.5/16" GASKETS
EL +49°2.3/8" 6|DOWA  |GASKET 3004 1/8” 316 SPRL WND 1 2

W/FLEXICARB TYPE CG

BOLTS

7|DOWA  |3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 8
W/2 A194 GR 2H NUTS

VALVES / IN-LINE ITENMS

8|DOWA  |GATE 300# FLANGED RF C.STL Fé
TRIM(API TRIM#S) (HIGH TEMP
PACKING REQUIRED ON VALVES)

&
o5 e
NS |
o~
~
|
\
|
I
i
i
I
EL +37°10.3/4" H
M 1.1/2x1°NS
2.1/2 1
£ i
CONT. ON
1.1/2"-DOWA-20035
E 14'0.3/4"
5 5'3.15/16"
EL +37°8.1/4" [TRACING SPEC: S-TRACING (NOTE-10)

ARea:  CETYL 1" -DOWA-20026

PIPING GA NO: — PLID NO:  1020/1009 STRESS CRITICAL: NA
OP.TEMP; 650°F OP.PRESS: 7> estg TEST MEDIUM: fydre
DES.TEMP:750°F DES.PRESS:300 psig TEST PRESS: 450 psig
SCALE: NONE INSUL.TYPE: Ns-CELLULAR INSUL.THK: 2 tnch
LINENO-/ 1~ _DOWA-20026 PR3

SIZE-A3

SHT. 1 0F 1 TCE FORM NQ. 027 RO



CONT. ON

SHT* 2 M

F3 G6 B7

FA 1:205
%
WS

CONN. TO
50-E-7356_NB
E 11'9"

S 5'3.15/16"
EL +36'5"

1.1/2"-DOWA-20028
E 18°1.3/8"

N 3°6.1/16"

EL +26'11.7/16"

o
CONT. ON ~
I
o~

Y

89.72°
EL +33"'11"

3x1.1/2"NS
EL +26'11.7/16"

F3 G6

_
Y+ EL +33°10.15/16"
P 4

6'11.3/16"

89.72°
EL +26"11.3/4"

FABRICATION MATERIALS
:(T) SPEC  |COMPONENT DESCRIPTION N.S. |QTY
PIPE
1|DOWA  [PIPE STD WT SMLS STL A106-B 3 19.5°
FITTINGS
2|DOWA  |ELL 90 DEG LR STD WT STL A234 3 5
WPB BW
FLANGES
3|DOWA |FLG WN 300# RF STL STD BORE A105 |3 4
ERECTION MATERIALS
E(E SPEC  |COMPONENT DESCRIPTION N.S. [QTY
FITTINGS
4|SUPP  |SPS-2G GUIDE SUPPORT 3 1
5|SUPP  |SPS-67G1 support 3 1
GASKETS
6|DOWA | GASKET 3004 1/8" 316 SPRL WND 3 4
W/FLEXICARB TYPE CG
BOLTS
7|DoWA  [4.5/16 x3/4" STUD BOLT A193 GR |7/8 16
B7 W/2 A194 GR 2H NUTS
INSTRUMENTS
8 CONTROL VLV. GLOBE 3004 RF TV % 1
10521
[TRACING SPEC: S-TRACING (NOTE-10)
area:  CETYL 3"-DOWA-20027
PIPING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: ®%°F OP.PRESS: 7 Pstg TEST MEDIUM: Hydro

DES.TEMP:750°F DES.PRESS:300 psig TEST PRESS: 450 psig

SCALE: NONE INSUL.TYPE: n5-ceLLuLAR INSUL.THK: 2 inch @
LINE NO. / - ISSUE: ™
FILE NAME : 3 —DOWA—20027 R3 a‘

TCE FORM NO. 027 RO

L



FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |aTY
89.72° NO
EL +26'10.13/16"
PIPE
1|DowA  |PIPE STD WT SMLS STL A106-B 3 [0
2|DOWA  |PIPE STD WT SMLS STL A106-B 1 0.7'
FITTINGS
3|DOWA |WELDOLET STO WT STL A105 BW 3x 1| 1
4|DOWA |ELL 90 DEG LR STD WT STL A234 |3 3
WPB BW
5|DOWA |ELL 90 DEG LR STD WT STL A234 |1 1
8.7/16" weB B
FALL 1:205 FLANGES
6|DOWA |FLG WN 300# RF STL STD BORE A105 |3 2
7|DOWA |FLG WN 300# RF STL STD BORE A105 |1 1
8|DOWA |FLG BLIND 3004 RF STL A105 1 1
Lyl ERECTION MATERIALS
EL +26'11.3/16" - _ PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
FALL 1:205/ /7 ’ ! NO
CONT. ON
3"_DOWA-20027-TAS EITTINGS
E 24'9.1/16" e
ELBSé;]'é?/BH 9|SUPP  |SPS-54 AXIAL STOP SUPPORT 3 1
¥ 10{SUPP  |SP5-26 GUIDE SUPPORT 3 1
FOR CONT REFER LINE NO 3”-DOWA-20027-TAS
VAL PTAE. BheEs NeTED 11|SUPP  |SPS-2 RESTING SUPPORT 3 1
U=k
F6 G612 B14] Fag SISO conT. FRoM L GASKETS
- ~ 7 TSHTY 1 - —
N >, , . ] [ 12|DOWA  |GASKET 3004 1/8” 316 SPRL WND |3 2
\-\\\Q Sy EL +26711.1/ 2 W/FLEXICARB TYPE CG
N | 13|DOWA  |GASKET 3004 1/8" 316 SPRL WND |1 2
IS Il W/FLEXICARB TYPE CG
AR “ |
N 6.1/2 | A
N EL 426°2.15/16" i | BOLTS
N IH: — =
Ny | i 14|DoWA  |4.5/16 x3/4" STUD BOLT A193 GR |7/8 | 16
o N SSA ) 1°NS II. B7 W/2 A194 GR 2H NUTS
N Il 15|DOWA  [3.1/8 x5/8" STUD BOLT A193 GR B7 [11/16| 8
(REST) N F7 G13 B15| Il W/2 A194 GR 2H NUTS
N i
Na {l VALVES / IN-LINE ITEMS
G13 815 ‘l 16|DOWA  |GATE 3004 FLANGED RF C.STL F6 |3 1
(| TRIM(API TRIM5) (HIGH TEMP
I PACKING REQUIRED ON VALVES)
I 17|0OWA  |GATE 3004 FLANGED RF C.STL F6 |1 1
th TRIM(APL TRIM5) (HIGH TEMP
II PACKING REQUIRED ON VALVES)
1
Il
|
I
I
If
If
It
U
~J>
) ]
R
VENDOR TO VERIFY ROUTING OF THIS
PIPING DONE THIS POINT OMWARD i
TO TIE-IN POINT OF THIS PIPING EL +2217.3/4"
BEFORE FABRICATION AND INSTALLATION :
[TRACING SPEC: S-TRACING (NOTE-10)

IZE-A3

ArReA:  CETYL 3" -DOWA-20027

PIFING GA NO: — P&ID NO: 1020 STRESS CRITICAL: NA

OP.TEMP: S50°F OP.PRESS: 7 psta TEST MEDIUM: Mydro

DES.TEMP:750°F DES.PRESS:300 psig TEST PRESS: 450 pslg

SCALE: NONE INSUL.TYPE: N5-CELLULAR INSUL.THK: 2 tnch

LINENO./  3»_DOWA-20027 R B
SHT. 2 OF 2 TCE FORM NO. 027 RO

| s



CONT. ON
6" -DOWA-20025-TAS
E 221.1/2"

N 31'8.3/4"

EL +2279.5/16"

FOR CONT REFER LINE NO 6"-DOWA-20025-TAS
MATCH PT-D, REFER NOTE-2

EL +3372*

EL +35'5.11/16" _|

CONT. ON
YSHT S 2

2FE e

S\_

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
PIPE
1|DOWA |PIPE STD WT SMLS STL A106-B 6 48.8°
FITTINGS
2|DOWA  |ELL 90 DEG LR STD WT STL A234 6 6
WPB BW
FLANGES
3|DOWA |FLG WN 300# RF STL STD BORE A105 |6 2
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
4|SUPP  |SPS-2G GUIDE SUPPORT 6 2
5[SUPP  |SPS25 TRUNNION SUPPORT 6 1
6|SUPP | SPS-67G1 support 6 1
7|SUPP | SPS-25 TRUNNION SUPPORT 6 1
GASKETS
8|DOWA  |GASKET 3004 1/8" 316 SPRL WND 6 1
W/FLEXICARB TYPE CG
BOLTS
9|DOWA |4.15/16 x3/4" STUD BOLT A193 GR |(7/8 12
B7 W/2 A194 GR 2H NUTS
|TRACIN6 SPEC: S-TRACING (NOTE-10)
AReA:  CETYL 6" -DOWA-20025
PIPING GA NO: — PYID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: $0°F OP.PRESS: 75 psig TEST MEDIUM: Hyére

DES.TEMP:750°F

DES.PRESS:300 psig

TEST PRESS:

450 psig

SCALE: NONE

INSUL. TYPE: n5-CELLULAR

INSUL.THK: 3 tnen

LINE NO. /

FILE NaME ;. ©7-DOWA-20025

ISSUE:
R

SHT. 1 0F 2

TCE FORM NO. 027 RO

(o8]
=



\ EL +48'9"
F\. F
5 1 ™ Ne
EL +47'5% © N 1§ 5
EL +47'3"
i
|
|
il
il
il
|
A |
o :|
& |i
W I
|
el :
|
|
|
il
s 1
2 |
~ |
= i
I
al |
El ediigs 157787 F10 G14 B17
[19]
EL +40'4" & SPINDLE E 30 S
tp. [F10 G14 B17] {(CHAIN OPERATED)
EL +39'10.1/8"
“ [F10 Gi4 B17]
EL +39'4.1/8"4_1_% F10 G14 B17
R SPINDLE E 30 S
Y
|
|
I
l
CONT. FRoM/
"SHT' 1

SPINDLE E 45 S

F11 G15 B18
EL +39'2.3/16"

CONT. ON
1 -DOWA-20026
E 119"
S 2°4.15/16"
EL +49'2.3/8"

W
Q. . \Q F9 G13 B1§)
e

CONN. TO
50-E-7356_NA
E 11'9"

S 3'11.15/16"
EL +48°9"

| 6.12"
~_EL +38'7.9/16"

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.5. |QTY
NO
PIPE
1|oowA  [PIPE STD WT SMLS STL A106-B 8 1.6
2|DowA  |PIPE STD WT SMLS STL A106-B 6 5.6
3|DOWA  |PIPE STD WT SMLS STL A106-B 1 1.0°
FITTINGS
4|DOWA [REDUCER CONC STD WT STL A234 WPB |8 x 6 1
BW
5|DOWA |WELDOLET STD WT STL A105 BW 8x 1| 1
6|DOWA  [WELDOLET STD WT STL A105 BW 6x 1| 1
7|DOWA  [ELL 90 DEG LR STD WT STL A234 8 1
WPB BW
8|DOWA |ELL 90 DEG LR STD WT STL A234 1 1
WPB BW
FLANGES
9|DOWA |FLG WN 3004 RF STL STD BORE A105|8 1
10|DOWA |FLG WN 300# RF STL STD BORE A105|6 3
11|DOWA |FLG WN 300# RF STL STD BORE A105 |1 1
12(DOWA |FLG BLIND 300§ RF STL A105 1 1
ERECTION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTY
NO
GASKETS
13|DOWA  [GASKET 300# 1,8 316 SPRL WND 8 1
W/FLEXICARB TYPE CG
14|DOWA  |GASKET 300# 1/8” 316 SPRL WND 6 3
W/FLEXICARB TYPE CG
15|DOWA  |GASKET 300# 1/8" 316 SPRL WND 1 2
W/FLEXICARB TYPE CG
BOLTS
16|DOWA  [5.1/2 x7/8” STUD BOLT A193 GR B7 [15/16| 12
W/2 A194 GR 2H NUTS
17|D0OWA  [4.15/16 x3/4” STUD BOLT A193 GR [7/8 | 36
B7 W/2 A194 GR 2H NUTS
18|DOWA  |3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| 8
W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
19|DOWA  |GATE 300# FLANGED RF C.STL Fé 6 2
TRIM(AP1 TRIM#5) (HIGH TEMP
PACKING REQUIRED ON VALVES)
20|DOWA |GATE 300# FLANGED RF C.STL Fé 1 1
TRIM(AP] TRIM#5) (HIGH TEMP
PACKING REQUIRED ON VALVES)
ITRAC]NG SPEC: S-TRACING (NOTE-10)
AREA: CETYL 6" -DOWA-20025
PIPING GA NO: — PLID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: S50°F OP,PRESS: 75 psig TEST MEDIUM: Hydro

DES.TEMP:750°F

DES.PRESS:300 psig TEST PRESS: 450 psig

SCALE:

NONE

INSUL.TYPE: n5-cELLULAR INSUL.THK: 3 tnch

LINE NO. /
FILE NAME :

6" -DOWA-20025

ISSUE:

SIZE-A3

SHT. 2 0F 2

TCE FORM NO. 027 RO

L



N

P1PERACK

FOR CONT REFER LINE NO 1.1/2"-DOWA-09001-TAS
MATCH PT-E, REFER NOTE-2

E 23'6.13/16"

N 35°8.,1/8"

EL +23"11.11/16"

1.1/2"NS

CONT. ON
1.1/2" -DOWA-20035
E 19°0.1/4"
N 12°4.15/16"
EL +32°9.11/16"
1.1/2%1"NS
//.‘|-
)
i 1
|
i
|
IE!I
F8 13 B14] Y}
L
iy
1.1/2x1.1/2°NS 2 L) IL' ‘
EL +23°11.11/16" CHAIN OPERATED 12

CONT. ON
1.1,/2"-DOWA-20028
2.1/4" E 19°2.9/16"
N 12°10.5/8"
EL +23"11.11186"

FABRICATION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION N.5. [aTy
NO
PIPE
1|DOWA  |PIPE STD WT SMLS STL A106-B 1.1/2|34.5°
2|DowA  |PIPE STD WT SMLS STL A106-B 1 0.5'
FITTINGS
3(DOWA  |TEE STD WT STL A234 WPB BW 1.12] 1
X
1.1/2
4|DOWA  |TEE STD WT STL A234 WPB BW 1.1/2] 1
x 1
5(DOWA  |ELL 45 DEG STD WT STL A234 WPB  [1.172| 1
BW
6|DOWA  |ELL 90 DEG LR STD WT STL A234  [1.1/2] 2
WPB BW
FLANGES
7|DONA  |FLG WN 300# RF STL STD BORE A105 [1.172| 1
8|DOWA |FLG WN 300# RF STL STD BORE A105 |1 1
9[DOWA |FLG BLIND 3004 RF STL A105 1 1
ERECTION MATERIALS
PT [SPEC |COMPONENT DESCRIPTION NS, ety
NO
FITTINGS
10|SUPP  |SPS-2 RESTING SUPPORT 120
11|SUPP  |SPS-67G1 support 1.1/2 1
R GASKETS
\'\?\ bt it
N 12|DOWA  |GASKET 3004 1/8” 316 SPRL WND  [1.1/2| 1
N W/FLEXICARB TYPE CG
13|DOWA  [GASKET 3004 1/8" 316 SPRL WND |1 2
& W/FLEXICARB TYPE CG
NG
N BOLTS
o NG edtes
By 14|DOWA |3.1/8 x5/8" STUD BOLT A193 GR B7 |11/16| B
Piss W/2 A194 GR 2H NUTS
,‘Q - VALVES / IN-LINE ITEMS
P
@'/'
A 15|00WA  [GATE 300# FLANGED RF C.STL F6 |1 1
# TRIM(AP] TRIM#5) (HIGH TEMP
5 PACKING REQUIRED ON VALVES)
A 3
P Wb
P q e
&
L1
Lo
TR
o
T
| 6.1/2"
EL +2371.7/16"
EL +22°6.13/16"
[TRACING SPEC: S TRACING (NOTE_10)
ARea:  CETYL 1.1/2"-DOWA-09001
PIPING GA NO: — P&ID NO: 1009 STRESS CRITICAL: NA
OP.TEMP; 650°F OP.PRESS: 8esig TEST MEDIUM: Hrdro
DES.TEMP:677°F DES.PRESS:150psig TEST PRESS: 225psig
SCALE: NONE INSUL.TYPE: ns-ceLLuLAR INSUL.THK: 2
LINE NO. " ISSUE:
e k. 1.1,/2" -DOWA-09001 R3

SHT. 1 OF 1 TCE FORM NO. 027 RO

SIZE-A3



LS

174" CONT. ON
1.1/2"-DOWA-09001
E 19'2.9/16"

‘<:%;\ﬁ:~i B N 12710.5/8"

EL +23'11.11/16"

i <,

CONT. ON
3"-DOWA-20027
E 18'1.3/8"
N 3'6.1/16"
EL +26°11.7/16"

EL +25'9.7/16" .
7.1/4" 2
©
I~
: l"
5
)
™~

FABRICATION MATERIALS
PT |SPEC |COMPONENT DESCRIPTION N.S. |QTyY
NO
PIPE
1|DOWA |PIPE STD WT SMLS STL A106-B 1.1/2(11.3°
FITTINGS
2|DOWA  |ELL 90 DEG LR STD WT STL A234 1.1/21 3
WPB BW
FLANGES
3| DOWA FLG WN 3004 RF STL STD BORE A105|1.1/2 ]
ERECTION MATERIALS
PT |SPEC COMPONENT DESCRIPTION N.S. |QTY
NO
FITTINGS
4|SUPP  |SPS-67G support 1.1/21 1
5|SUPP  |SPS-2 RESTING SUPPORT 1.1/2) 1
GASKETS
6| DOWA GASKET 300# 1/8" 316 SPRL WND ¥.1/2 2
W/FLEXICARB TYPE CG
BOLTS
7 | DOWA 3.9/16 x3/4" STUD BOLT A193 GR 7/8 8
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
8|DOWA |GATE 300# FLANGED RF C.STL Fé 1.1/2] 1
TRIM(AP] TRIM#S) (HIGH TEMP
PACKING REQUIRED ON VALVES)
SUPPORTS
9|DOWA  |FLOOR PENITRATION ATTA 1.1/21 1
b I
[s9]
PLTF EL. 25.7
EL +23'11.11/16"
|TRACING SPEC: S-TRACING (NOTE-10)
AREA:  CETYL 1.1/2"-DOWA-20028
PIPING GA NO: — PID NO: 1020 STRESS CRITICAL: NA
OP.TEMP: S50°F OP.PRESS: 7opstg TEST MEDIUM: Hydre
DES.TEMP.750°F DES.PRESS300psig TEST PRESS: 450psig
SCALE: NONE INSUL.TYPE: ns-ceLLULAR INSUL.THK: 2
LINE NO. " ISSUE:
NN 1.1/2"-DOWA-20028 | R3

1ZE-A3

SHT. 1 OF

TCE FORM NO. 027 RO

| s



CONT. ON
1.1/2"-DOWA-09001
E 19'0.1/4"

N 12'4.15/16"

EL +32'9.11/16"

3.11/18"

[F4 ce B9

CONN. TO
50-E-7356 NH
E 127117
5 5'3.15/16"
EL +37'6"

]

CONT. ON

1"-DOWA-20026

£ 14'0.3/4"
S 5'3,15/16"
EL +37'8.1/4"

L 2.1/4" i
2'0.7/8" P

G
A
<13.5/8” ,’-,,'

° QP

o P

© i .

2 P |’2,

N 4 e
- [

N

5
LA

2'7.7/16"

FABRICATION MATERIALS

TRIM(APT TRIM#5) (HIGH TEMP
PACKING REQUIRED ON VALVES)

PT [SPEC |COMPONENT DESCRIPTION N.S. [aTY
NO
PIPE
1|DowA  |PIPE STD WT SMLS STL A106-B 1.1/2]26.2"
FITTINGS
2|DOWA  |TEE STD WT STL A234 WPB BW IRV-IE
X
1.1/2
3|Dowa  |ELL 90 DEG LR STD WT STL A234  [1.1/2] 3
WPB BW
FLANGES
4|DOWA  |FLG WN 3004 RF STL STD BORE A105|1.1/2| 1
ERECTION MATERIALS
PT [SPEC [COMPONENT DESCRIPTION NS, [aTy
NO
FITTINGS
5|SUPP  |SPS-25 TRUNNION SUPPORT 120 0
6|SUPP  |SPS-2G GUIDE SUPPORT 12| 1
7|SuUPP  |SPS-2 RESTING SUPPORT 1122 1
GASKETS
8|DOWA  |GASKET 3004 1/8” 316 SPRL wnD  [1.1/2| 2
W/FLEXICARB TYPE CG
BOLTS
o|DowA  [3.9/16 x374 STUD BOLT A193 GR  |7/8 8
B7 W/2 A194 GR 2H NUTS
VALVES / IN-LINE ITEMS
10|DOWA  |GATE 3004 FLANGED RF C.STL F6  |1.1/2] 1

EL +32°9.11/16"

[TRACING SPEC: S_TRACING (NOTE-10)

area:  CETYL 1.1/2"-DOWA-20035
PIPING GA NO: — P&D NO: 102071009 STRESS CRITICAL: NA
OP.TEMP: 50°F OP.PRESS: 7o#slg TEST MEDIUM: Hydre

DES.TEMP:750°F

DES.PRESS:200psig

TEST PRESS:  450psig

SCALE: NONE

INSUL.TYPE: ns-ceLLuLar

INSUL.THK: 2

LINE NC. /

FILE NamE : |- 1/2"-DOWA-20035

SSUE:
‘I U R3

SHT. 1 OF

TCE FORM NO. 027 RO

SIZE-AZ



